Текст 4.10
Прочитайте текст и составьте на английском языке его структурно-логическую схему.
Breaking the Man-Machine Communication Barrier
Technological advances in computers can be used to enrich communications between people. When a person edits a document or writes an electronic message, the computer is not the intended recipient of the result, but merely stores or transmits that information." In the paperless office of the future, most of the letters, memos, and reports that are currently printed on paper will instead be stored in the office computer system) But before it can fill this role successfully, the computer system must provide convenient ways to include figures and photographs in documents and allow comments to be "pencilled into the margin (поле)" of an electronic page. In other words, it must provide mechanisms for human communication that are at least as convenient and efficient as current paper-based communication systems.
Just as graphic displays suggested less obtrusive (назойливый) ways of notifying the user about error corrections, several supplements to written communication have also been made possible by recenj, computer technology advances. One of them is voice annotations.
The recording and playback of digitized speech is now feasible even for inexpensive computer systems, primarily as a result of the recent development of special-purpose integrated circuits intended for digital telephone systems. The obvious advantage of the recorded speech is that it is faster and easier for the human user than the corresponding typed input; it is therefore well suited- to the role of "penned notations" on existing documents. For example, the recipient of a document should be able to point to a portion of the text, record a spoken comment at that point, and return the document to its originator, who can replay the recorded message at his convenience.
Текст 4.11.
Бегло прочитайте текст.   Озаглавьте его. Дайте обоснование выбора
заголовка. Значения выделенных слов вы сможете понять из контекста.
The transistor was the basis for the second generation of computers - a generation that listed about_15 years. The third generation began in the mid-1960s and produced two types of offspring: the mainframe computer and the minicomputer. The mainframe computer looked like a computer.1 It was (and still is) big, required air conditioning or even direct liquid cooling to keep its not electrical components working (as a direct consequence of its still-substantial power consumption), and had
Xand still has) to be attended by a group of specialists: systems programmers, applications programmers, and operators. All the advantages of integrated circuits were used in these systems to make them extremely powerful. The new entrants upon the scene were the minicomputers. Much smaller and less
'expensive than mainframes, the minis first found application in the field of industrial
-
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process control and small-job data processing, but their capabilities continued to expand. They began to appear in places other than the Computer Center.
The fourth and present generation of computer was ushered in by the first commercial production of a microprocessor, the Intel 4004, in 1971. This was the first occasion in which the entire central processing unit (CPU), the "brains" of a computer, was put on single chip. With a CPU chip and a few memory chips and other integrated circuits, a fully functional, general-purpose, stored-program computer can be built that weighs a few ounces and consumes a few watts of power.
During twenty years the computer has come a long way. At the upper and of the scale are super-computers, such as the Soviet computer Elbrus-3 being developed by the group of young scientists, performing more than 20 million instructions per second. And there are more to come.
1 Текст 4.12 Переведите письменно со словарем.
High-Level Languages
High-level languages are to assembly- or machine-language programming what integrated circuits are to discrete logic - they collect small, related elements into neat modules. The benefits, too, are similar. Just as the hardware designer needs fewer components to build a system, the programmer thinking in a high-level language needs fewer lines of code to make a system go.
Such languages are not the perfect solution for all programming problems. They require a lot of memory, for example, and in the case of microcomputers, that was economically impractical till quite recently. But now they can often be used to cut expensive microcomputerfirmware development time, especially if their user is aware of the languages' strengths and weaknesses.
4.20. Переведите, обращая внимание на контекстуальное значение слов run, tradeoff, background:
1. The system ran in continuous operation for several months. 2. The problem is now ready for running. 3. The value of variable / is computed at run time. 4. A factory can run non-stop. 5. Many new projects are being run. 6. This paper will explain the background and principles needed to select and apply microprocessors and microcomputers. 7. Some readers have no background in digital electronics. 8. Tradeoffs versus other logic solutions must be considered more carefully than ever before.
4.21 Определите контекстуальное значение выделенных слов:
1. The concept of distributed computing is spurred by the inexpensive availability of minis and micros. 2. The mind boggles at the concepts microcomputers permit designers to realize. 3. The potential for microcomputer applications has already outstepped even the most inventive minds. 4. One-chip computers rival the power of the digital computers.
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